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Evaluate withowt a calculator:
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In 13.3, We were given an angle & asked 10 owluate the
value ot o +rig fuinchon. Now in 12.4,we’ll be giv&m e

Valve ot o trig function % will be asked 10 find the
amgle-

So for example, find an angle whose oin=17.
300.) |50°) 30’00) -330°

To make things easler, we restrict the domain so we
only have one unigue andle.
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Evalnate the 6X\omsei0m in loth radians & d&greas.
a) cos”(2) b) 6in”" (2) c)tar ' (-\3)
osp =3 saing =2 tane=\3
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30° or __75. m r@ or 3
d) ain”' (1) &)cos"(-%) £)tan™ (%—)
sine = -l Coso="12 tanp= 3.
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90 or = 6=125°0r3F o=k

Take (1 2 step further! Now solve over a given interval.

O Solve 5'”9:"% where 180°< 6 < 270°
Step |- Use gow calcmlar o find Hae ¥

6=38.68"

step 2 find the indicated quad rant

CHECK: -5
g

Solve for & over the aven intevval:



@cose=0.4 ; 270°2 6 £360° @tane=2.1,180°26 220"

4 Quad 3" Quad
Step 1+ 05 (0.4) = 6642 stept: tan~'(2.1) ¥ 64.54
Step2: Step 2 ]
(170)65-** 360 4"
5/ ~ 6642 130
&wu e Al | o454
244.57°
CHECK) CoS(293.53)=.4V CRECK, tan(244.54)= .|
®SinG=0.62;90°2 6« 180° ©)coso=-0.39, 180°< 6 <270°
27 Quad 37 Quad
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Stepl: 5N (0.68) % 3%.32 step | COS™'( .37) % 112.94

step & Step AR 295
a3 anfY
30 Wl 130
'%" +61.05
e 247.05°

CHECK) SIN(141.68)=.62Y CHECK| (0S(247.05)=-.39/



